# **MEMORIAL PARK PROJECT RECOMMENDATIONS**

### Monument Repair and Restoration

Glory of Their Sons	Base Cost: Stone and sculpture treatment, scaffolding, dismantling, transport to CSOS, reinstall	\$164,000.00
	Alternates: fabrication of bayonet and rifle, fence repair, eagles, plaques	\$54,800.00
Arthur Smith Memorial	Stone and sculpture treatment Option 1:	\$75,400.00
	Stone and sculpture treatment Option 2:	\$88,400.00
Olen J. Pond Memorial	Treatment of stone, re-create missing head	\$32,000.00
	Optional: Treatment of urns	\$10,000.00
Allen County Vietnam Veterans Memorial	Move Allen County Vietnam Memorial to location along new pathways	\$8,000.00
Softball Memorial	Move monument to more prominent location	\$1,000.00
Update Parks and Recreation website with information and photo for all		
monuments		\$0.00

## **MEMORIAL PARK PROJECT RECOMMENDATIONS**

### Circulation/ADA

Provide accessible path from Pond Memorial to Memorial Grove	770 LF	\$35/LF	\$29,950.00
Provide accessible path from pull-in parking lot to Glory of Their Sons Memorial	170 LF	\$35/LF	\$5,950.00
Provide accessible path from Randall St to Pond Memorial, with spur to Maumee	800 LF	\$35/LF	\$20,520.00
Add pavers around Glory of Their Sons Memorial	600 SF	\$18/SF	\$10,800.00
Add pathway from Humphrey St to playground and Glory of Their Sons memorial	700 LF	\$35/LF	\$24,500.00
Provide accessible path around east side of pavilion and connect to Memorial Grove	240 LF	\$35/LF	\$8,400.00

## **MEMORIAL PARK PROJECT RECOMMENDATIONS**

### <u>Landscape/Recreation</u>

Remove and replace landscaping around Glory of Their Sons Memorial			\$2,000.00
Remove and replace landscaping around the Arthur Smith Memorial			\$4,000.00
Remove and replace landscaping around the Pond Memorial			\$2,000.00
Replace any trees lost in the Memorial Grove			\$210 Per Tree
Add plaque on a stone or concrete pedestal describing Memorial Grove. Place in an accessible location where grove can be viewed			\$8,000.00
Install grand monument sign on Maumee Avenue and include Legacy plaque			\$45,000.00
Provide accessible path from parking lot to ball field			\$60,000.00
Add paver patio on south side of pavilion	1140 SF	\$18/LF	\$20,520.00
Add (5) benches at perimeter of Memorial Grove		\$2500/per	\$12,500.00